Name

SUBTRACTION WORD PROBLEMS TO 150 SHEET 3UK

Date

WORKING OUT

1)

Sally’s pear tree has 137 b
She picks 83 S

How many S are left?

2)

There are 142 in a parking lot.
67 drive away.
What is 142 minus 677

3)

Captain finds 108 Q

Frazer finds 79 9
What is the difference?

4)

| have £125.
| spend £71.
How much money do | have left? £

5)

A music shop has 150 (f/ :

124 « are sold.
How many are left?

6)

There are 136 /@f.
57 Ly slither away.
How many Ly are left?
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Name

SUBTRACTION WORD PROBLEMS TO 150 SHEET 3UK ANSWERS

Date

WORKING OUT
1) Sally’s pear tree has 137 S 137-83=54
She picks 83 b
How many b are left? 54
2) |There are 142 in a parking lot. 142 - 67 =75
67 == (riye away.
What is 142 minus 67? 75
3) | Captain finds 108 & 108 =79 =29
Frazer finds 79 @
What is the difference? 29
4) |l have £125. £125-£71=£54
| spend £71.
How much money do | have left? £ 54
5) | A music shop has 150 < . 150 =124 =26
124 ( are sold.
How many are left? 26
6) | There are 136 <2 | 136 —57 =79

57 Ly slither away.
How many Ly are left? 79
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